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#include <stdio.h>

Int main()
{

float a; linux@xiaomei:~/c_source$ gcc
o[o]¥] o] [N o float demo.c -Wall

ong double ¢; linux@xiaomei:~/c_source$ ./a.out
orintf("a size = %lu\n", sizeof(a)); a size = 4

orintf("b size = %lu\n", sizeof(b)); b size = 8

orintf("c size = %lu\n", sizeof(c)); c size = 16

return O;

}
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#include <stdio.h>

int main() $ gce float_demo?2.c -Wall
{ $ ./a.out
float 1 = 0.008: £1=0.008000,2=0.008000
float f2 = 8E-3; f3=8000.000000,f4=8000.000000
float f3 = 8000;
float f4 = 8E+3; RNERFRET N, B21E

printf("f1=%ff2=%M\n", 11, 12);  Hz\, BHBEREERN
printf("f3=%f,f4=%f\n", {3, f4);

return O;
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#include <stdio.h>

Int main()

{

floata = 1.12345678901234567890:;

double b =

1.12345678901234567890;

long double c = $ gcc float demo3.c -Wall
1.12345678901234567890: & Jaout

printf(*a = [%.30f]\n", a); a=[1. 835746765136718750000000]
printf("b = [%.30lf]\n", b); b =[1. 91247674039914]
printf("c = [%.30Lf]\n", ©); c=[1. 91247674039914]
return O;

}
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